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1. Identify the figure below

[

D

(i) circle (ii) rhombus (iii) angle (iv) parallelogram (v) square

2. In parallelogram GHIJ, diagonals HJ and Gl intersect atK. Then GH ||
] |

@

H

(i) H (i) JG (i) GI (iv) HI (v) 1

3. In parallelogramHIJK, diagonals IK and H] intersect atL. ThenJK =

]

I

(i) H) (i) KH (i) 1K (iv) 1) (v) HI

4. In parallelogramIJKL, diagonals JL and IK intersect atM. Then AKLI =
L K

(i) AKLM (ii) AlJK (iii) AJKL (iv) AlJM (v) ALl



5. In parallelogramJKLM, diagonals KM and JL intersect atN. Then ZLM) =
M L

X

]
(i) £KLM (ii) £MJK (iii) Z£JKN (iv) ZLMN (v) ZJKL

6. In parallelogram DEFG, diagonals EG and DF intersect atH. ThenFH =
G F

Jin

E

)

i) EH (ii) GH (iii) DH (iv) GD (v) EF

—

7. In the given parallelogram, which of the following statements are true?

a)

b) OR=RP
) ARNO = ARPQ

d) Ris the mid point of OQ

C

e) Ris the mid point of NP

Q P

0]

=

(i) {a,c,d} (i) {a,c} (iii) {b,d} (iv) {a,b,e} (v) {c.de}

8. In parallelogram NOPQ, diagonals OQ and NP intersect atR. Then PQ ||
Q P

X

O

=

i) NO (i) OP (iii) NP (iv) QN (v) OQ

—



9. In parallelogramPQRS, diagonals QS and PR intersect atT. Then SP ||
5 R

P Q

(i) PQ (ii) RS (iii) PR (iv) QR (v) QS

10. In parallelogramJKLM,diagonals KM and JL intersect atN. Then KL ||
M L

J K

(i) LM (i) JL (i) KM (iv) M) (v) JK

11. In parallelogramJKLM,diagonals KM and JL intersect atN. Then)K =
M L

] K

(i) KM (ii) JL (iii) KL (iv) LM (v) M)

12. In parallelogram EFGH, diagonals FH and EG intersect atl. ThenHE =
H G

E F

(i) FH (ii) EG (iii) GH (iv) FG (v) EF

13. In parallelogramKLMN, diagonals LN and KM intersect atO. ThenLM =
N M

K L

(i) KL (ii) MN (iii) NK (iv) LN (v) KM



14. In parallelogramJKLM, diagonals KM and JL intersect atN. Then AMJK =
M L

J K

(i) ALMN (i) AKLM (iii) AJKN (iv) AJKL (v) ALMJ

15. In parallelogram OPQR,diagonals PR and OQ intersect atS. Then APQR =
R Q

o P

(i) AOPQ (ii) AOPS (iii) AQRO (iv) AQRS (v) AROP

16. In parallelogram OPQR,diagonals PR and OQ intersect atS. Then AOPQ =
R Q

O P

(i) AOPS (ii) AQRO (iii) AQRS (iv) APQR (v) AROP

17. In parallelogram EFGH, diagonals FH and EG intersect atl. Then ZHEF =
H G

E F

(i) £GHE (ii) £FGH (iii) £4ZEFG (iv) 4GHI (v) ZEFI

18. In parallelogram GHIJ, diagonals HJ and Gl intersect atK. Then ZHI) =
] |

G H

(i) £GHK (ii) £GHI (iii) £lK (iv) ZIJG (v) Z)JGH



19. In parallelogram OPQR,diagonals PR and OQ intersect atS. Then LOPQ =
R Q

O P

(i) £OPS (ii) 4PQR (iii) £QRO (iv) £QRS (v) ZROP

20. In parallelogramNOPQ, diagonals OQ and NP intersect atR. ThenNR =
Q P

N 0

(i) QN (ii) OP (iii) QR (iv) PR (v) OR

21. In parallelogram BCDE, diagonals CE and BD intersect atF. ThenEF =
E D

B C

(i) EB (ii) CF (iii) DF (iv) CD (v) BF

22. In parallelogram FGHI, diagonals Gl and FH intersect at). ThenG) =
| H

F G

(i) H) (i) 1 Gii) GH (iv) IF (v) FJ



Assignment Key

1) (iv) 2) (v) 3) (v) 4) (ii) 5) (v) 6) (iii)
7) (v) 8) (i) 9) (iv) 10) (iv) 11) (iv) 12) (iv)
13) (iii) 14) (ii) 15) (v) 16) (ii) 17) (ii) 18) (v)
19) (iii) 20) (iv) 21) (ii) 22) (ii)
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